
Financial Mathematics 

𝐏𝐥𝐞𝐚𝐬𝐞 𝐍𝐎𝐓𝐄: 𝑖 =  
𝑟

𝑚
 𝑎𝑛𝑑 𝑛 = 𝑚𝑡    𝑤ℎ𝑒𝑟𝑒   

𝑟 = 𝑖𝑛𝑡𝑒𝑟𝑒𝑠𝑡 𝑟𝑎𝑡𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑒𝑑 𝑎𝑠 𝑎 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 𝑎𝑛𝑑                              
𝑚 = 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑐𝑜𝑚𝑝𝑜𝑢𝑛𝑑𝑖𝑛𝑔𝑠 𝑝𝑒𝑟 𝑦𝑒𝑎𝑟  
𝑡 = 𝑡𝑖𝑚𝑒 𝑖𝑛 𝑦𝑒𝑎𝑟𝑠  

 
Simple Interest 

 
𝐼 = 𝑃𝑟𝑡   𝑤𝑖𝑡ℎ  𝑆 = 𝑃 + 𝐼  
 

 
Periodic Compounding 

 

𝑆 = 𝑃(1 + 𝑖)𝑛 = 𝑃 (1 +
𝑟

𝑚
)

𝑚𝑡

 

 

 
Continuous Compounding 

 
𝑆 = 𝑃𝑒𝑟𝑡 

 

 
Annual Percentage Yield 

 

𝐴𝑃𝑌 =  (1 + 𝑖)𝑚 − 1 = (1 +
𝑟

𝑚
)

𝑚

− 1 

 

 
Continuous Compounding 

 
𝐴𝑃𝑌 =  𝑒𝑟 − 1 

 

 
Future Value of an Ordinary Annuity 

 

𝑆 = 𝑅 [
(1 + 𝑖)𝑛 − 1

𝑖
] 

 

 
Future Value of an Annuity Due 

 

𝑆 = 𝑅 [
(1 + 𝑖)𝑛 − 1

𝑖
] (1 + 𝑖) 

 

 
Present Value of an Ordinary Annuity 

(payments made at end) 

 

𝐴 = 𝑅 [
1 − (1 + 𝑖)−𝑛

𝑖
] 

 

 
Present Value of an Ordinary Annuity 

(Payments made at the beginning) 

 

𝐴 = 𝑅 [
1 − (1 + 𝑖)−𝑛

𝑖
] (1 + 𝑖) 

 
Present Value of a Deferred Annuity 

(Deferred for k periods) 

 

𝐴 = 𝑅 [
1 − (1 + 𝑖)−𝑛

𝑖
] (1 + 𝑖)−𝑘 

 


